3 2 !
8 { M5V2 7 MV { 6 5 4 {
C56 L15
[=] M5V2 . VY>>
= C45 =) * a
01 = /\
< 10NF I S l l
1NF c16 Ps c79 c80
e o 10 10NF 10UF R120
§<}_| |—1>% = 10NF 53 OFFSET Moo 1
= S 0N 2 s 38 o  Co8 c109 17
I - = = = | | | D& AGND AGND
N D1 | 5 AGNDG L [ Q OPA658
% PR = < 10NF 10NF
TRIG T 1 D —5 3w 21 LM3
O] I R1
¢ 10NE < s Lo " 2 uT| ¢ (47 J-ANALOG OUT
o3 IC4 3 2 Té ~ NN I\ BEQ149 IN- j/( L
TRIGGER _
100 DELAY T4 100EL31 :'TD BFQ149 * v GND=AGND
= %gle 2Bley s Cu6 _| | cur
0] VEE=M5V2 1 3
n VCC=AGND = &< I b3
~ < 10NF <
IS — & 10NF v
@ —
5 15PF AGND Vsy2 s
IC14 —c17
AGND — 1ONE gls Integrator| o)
1 LF356N o
M5V2 ; —{BA R86
A ic1 Optical Rx. . 3/ we | 3 0K
PO FAD Generation of a pulse, with a fixed j]\EIN- 2 AGND .
. . . 5 BA |
. ra 4 minimum width —t v i wld] I o E'|23£| c16
LB FH 1 —D 2 M5V2 co4 cro2 &5 B 8.9PF OPAGSS
= L o =7
> L10
M5V2 E CASE 2 10UF 10UF v 7 3 e
Q AGND AGND Y\ e o h ouT ADC
AGND - AGND 1NF = e o LO.33UH L 2 6
100NF Qg M2v N Ll c22  olg ) j/(
1T — | 10NF 10NF C20 b ][5 " "
10NF cr7 I AR AGKD 33PF 47PF 2
AGND AGND 2 M5V2P5V
<lgl Tan R146 10NF - _L2 bg % cu1 < ~ cu2
2l BZV55C2V4 . , A > s 10NF ACKD AGND AGND I I
oo 2 ' = SA Ao 2= 10UF 10UF
LO)|
b O] 1c3 IC6 % o C76 % M2V " s p7 R113 C110 C113
, [LO0ELI6 | T , [100EL16 T ) <l e ve o 5 ~~ ~ N 1ONF
o BFQ19
3 @ 6 TS > N — A g~ cwe | cwoo g a0V AGND
VBB VBB R38 7 IC10 1 10NF Z4 DE v
- 2 = < 10NF 10NF T A p5V
AGND 10NF VEE=M5V2_F u\—; VEE=M5V2 100 100ELO1 3 o B L7 L6
VCC=AGND VCCZAGND 8 REF.MIN. 1 5 D% T4 T3
AGND N S Ll VEE=M5V2 < BFQ19 BFQ19
RX LEVEL { §<}—|10N|—DF 5 15PF VECAGND Q
C50 8= |
C49 10NF e
100N I o coo 2 c7 . PR 13
|v|5V2 F z I D R R62
g 5¢— F—a¢— | co  Qylz TREF<T2TL B2
AGND 1ONF AGND < 1NF | R TPF o ]
o, cn 9 |100E
5<1—| |—% 51
LM1 < 10NF o
LASER_OUT " \Vi 5%
N M2V S VCC=AGND
M2v o VEE=M5V2
] A ce7 a
GND=AGND DE
a 10NF 2 M2V M2V -
g & c70 ‘ 7
&4 C65
2 s =) 2 PR TPQS=T2 R60
10NF ct %<}_| DE |_{>5 5 1o 0 %g (47 ] R57 1 PR o2
M5V2 = 10NF < 10NF < ICo (O= - —{ 4} 18 R B
ok 2 100EL30 Generation of IC9
10EL12 1 R24 18 & & 6 R59 100EL30
LM2 e 2| o8 1 a 2nd pulse. It o 3
POSITION : i& A 10EL12 1 o starts at the B
~ Dl Qg po QA same time cL
41 [ cs ) VCC=AGND ' o ol
< Ic7 | o 253 VEE=MSV2 but it finishes §|:§] g8 g3 83 S VCC=AGND
GND=AGND END2AGND 10PF c73 a when the A~ S VEE=MSV2 <]
— N
c42 o §H§ e AN vy g<t—1 | —>% second pulse L L = e o6
@ % DE C64 o /N = 100NF arrives. So, C72 C74 e 10NF
ofE| x| = 1NF < g the width is ——C75 2 100F 1ONF c4
= C60 < f— DE =)
a ©43 o 10NF . 10NF Q — il
2 = \V4 02 <l variable. 2 LONE AGND  AGND
< 10NF 10NF < M2v M2v HSMS2814 cs & Ic5 a < o [0l [Ole [0l [0] AGND AGND
| 7 1 @_D(ZD AGND FEREREE M5V2
M2V M2V g ! 2 < MECHANICAL HOLES
D 15PF 100ELO1 | 3 .
4 3
= . _ _ - : 97A
ces e B EDMS REF. 306381 VERSION: 5 PCB: SL 680-7065-200-G SYSTEM: CADENCE
10NF VCC=AGND 2
N cs8 4 bg REF: SL 680-7065-200-G TITLE: INTEGRATEUR-AMPLI
We make a AGND S 3 G 10ONF PAGE: 112
reset, in case g ol = 1NF T ey DIV. SU/BI ABBREV: :
the second st EVA 23 LAST_MODIFIED=Tue  May 24 11:53:32 2005
pulse (STOP) T 10NF " 1211 GEN |
(&) . .
: E ITZERLAND DESSIN: S.TRINDEL PV | ETUDE: COCQ DATE:
never arrives. M2V _DRAWING | & Sw ‘ 1
7 3 2
5 7 ‘ 6 ‘ 5 ‘



ecalvo
Rectangle

ecalvo
Text Box
Optical Rx.

ecalvo
Polygonal Line

ecalvo
Text Box
Generation of a pulse, with a fixed  minimum width

ecalvo
Polygonal Line

ecalvo
Text Box
Generation of a 2nd pulse. It starts at the same time, but it finishes when the second pulse arrives. So, the width is variable.

ecalvo
Line

ecalvo
Text Box
We make a reset, in case the second pulse (STOP) never arrives.

ecalvo
Line

ecalvo
Text Box
Integrator


4 3 2 1
11 10 9 8 6 5
L16
2 52V
1C25 Z¢
10ELT24 g
ci22 |
10UF ==
cu L7
2 VEE=M5V2
b2 - o -5.2V(-)
Coz ! K GND=AGND <l YV
N o 10NF o
é ] o 89 R70 ~ ca1 a L18
10NF 24_| 4.7K 2 > < pZ R
2 > 2 2 ] 24 V)
- 10NF R74 10NF )
M2y a 3
o c1 | R69 820 g% c36
z I 27 S Q ;(9) 51 = < o 2
) 10F o - 2 10NF 2 fgjg j—
10E131 Lo
O | FLIP-FLOP C90
P 2 ~~~_2V0)
Y 2 o c32
2% D c12 E § M2v M2v ; % §<} YT
2 15PF . 10NF “ €30 2 10NF T 20
&— 5V(+
HSMS2814 ) 33 Q €139 a &< YL ) BI13 | J7 A3 ] J7
Q| 26 10NF | = > 2 o = a
. ‘ o ~ C: ) sl S m<}—| |—Do & [V
2 & 5 b o 10NF <
& = 10NF < Ic23 Ic28 c130 |
‘ . 10ELT25 DS90CA01L R136 DS90LV 10UF =
2 s ] ReL 2 2 |, 7 5o 1 3 028A 2
y - 8
Ic18 )18 4 o = Q Oﬁ | ECL i 8 o 6 J 4 R\;’:l> Ro| 6 24 ~— V0 [B1a o7 (A2 07
10E131 g E s Ic22 o % 5 2 P4
y & 2 vce=psv
, FLIP-FLOP 1 ocis TO0EL3L gl% D R137 . re I rRO2| 7
R73 T a ~| GND=AGND
= o= 2 3° ) 18PF 2 g c VEE=MSV2 c125 = PS5 B 7 A5 ] o7
g P8 2 | VCC=P5V 2
100 o C28 VEE=M5V2 H -
Cc119 o o %{}—' | VCC=AGND | (g HsMs2814 < &4 B16 | J7 A6 ] J7
10NF I & 2 < 10NF 15PF « <
STROBE DELAY  HsmSZ814 2 -
& M2V = 3 B17 ] J7 A7 ] 7
AGND ‘ Rre2
7 S 14 51 >z c34 122
ic1e g% s M2y My g % o — sy()
) YY) 7
10E131 - co25 = 10NF < g<} B18 | J7 (A18 ]V
FLIP-FLOP Z¢ C35 a
2 =[3 K I3 3
R77 8 D L c14a N c24 o 10NF g < i ] C136
& 51 R T 15PF HSMS2814 5<}_| |—{>5 S Q= 10NF 10UF
= & = 1NF < & = 1C24 1C26 23
co3 m’ = — 10ELT25 DS90C401 - 5V()
10NF ‘ = | LS Zl Y BIo ] J7 A9 J7
) o : ol 5 3.3V()
L2 1o
AGND N ca CO—+ cua1 |
= 10UF ==
‘o S ol 3 o) GND=AGND GND=AGND Loa
[CEREN SYN S VEE=M5V2 ca7
100EL31 o[~ VCC=P5V > 2 @ —— 3.3V(+
10E131 L a<t—] |—1>§ <t A ) B20 ] o7 AZ0 ] 37
FUP-FLOP ) 10NF
VEE=M5V:
R76 éj) —Lcis ~| VCC=AGND
2< R T 15PF @l
= VEE=M5V2 2l ca3 -
co1 GND1=AGND | —3
10NF I GND2=AGND IONE ]
AGND mav
1c29 a
S—{B e —(H
PS5V P5V DS90LVO11ATMF o
/\ IC27 4 DO
M2y 2 Ps90C402 EXTTRIG 55—
M2v M2v &
< o =) 6 |ro DO
g i 2 c95 b M2v &' '3 @C
< D& a
ol g 2 3¢—] A Ic19
9= N 10NF Q =) GND=AGND <
S 10NF % 100EL16 CC=P5V &
< I o < 2 7 Vv o
= g = 10NF L L c38 -
< e - y “ — ¢ S — 54— >3
3 Ic2 l g © o veB |4 10NF
<
10NF o cs1 PR 7 1 Ic1s 7 “VEE=GND =] =] U
10EL12 Z | D = | = 10
R147 o I 5 2\ o] o]
1 2 s ¢ IC30
2 51 o0 OR Sy 10NF ic11 T JuooeLor c133 b1
= R7 ) A 4
6 bt o 3 3 ) =) p5V \\ Lvc273
g8 ‘—g& 100EL31 VEE=M5V2 = ' A 1 O R e Juw (& %
VEE=M5V2 = VCC=AGND 10NF . T 15 ol
GND=AGND cL 2 co7 g LeTer rem L
TRIG cas VCCoAGND g 2 =] cuwos F— 0 %
S b2 < g 2 S cis c19 330NF N
2 2 co = HSMS2814 10NF Q 47PF 4.7PF 2 D,  Q
10NF 10NF : P3V3 & 4 1p 5
15PF T Vi . | 3 1 g 2
o 0
M2v w = c137 0 0
5 2 \% 1
Msv2 Lo 330NF MR
= C138 VCC=P3v3
A =
cer o e 2 =
3 s 5 8 oo © c140
R11 2 ’ ©
10NF 2 a
§ S‘, R101 VCCA  VCCD vcco E'f<}—| |—|‘%
ca8 h M2y cs8 i {70k DAB765 10NF
10NF Q A o =] T IC31
] ?S D4 M5V2 o Q < ortc 1C20 D<9> 1
= = 10NF < ] S 3 D<g> 2 , | Lveers D7
2 o 2 — EYANAN 2 per> |2 e LI & 8 A 8
AGND —] ol | = TIK peg> |24 —0s Qs 5 4|38 Al4_ |38
10NF < = ] <5> S Ds Qs 8 A 8
2ND TRIG PR T LK D<5; > 5 7
| IC12 2 7 D<d> |—= Dy Q4 J8 A 38
DELAY 3 o o <6 TP4 Ri0d T pegs |27 B_1p, o, 3 8 A 8
cAL 100EL16 cs 2D 10K N o 1o, o[ 2 38 Als ] 38
R103 Det> D, Q 10 |8 A0 | 8
§|§ 10K SH D<0> LSB 18 Dy Qo X 0 B20 | J8 A 38
100EL31 VREF
20 L
cL —Lc10 c107 R MR GND
VEE=M5V2 15PF 10NF L‘) VCC=P3V3
~| VCC=AGND AGND __ DGND_OGND =
R142
c40 8
AGND % | g 2 8
R115 ) & O [Ri43
ADC e 8 7 : 10NF 3 1
L0 BFQ19  BFQI9 —
GND B 8
€103 R RI45
2 38 38
10NF < Ic32 o
DS2411 o E
% o 1 EE J8
< GND vee
NS
=
I &
GND DRAWING
o
& REF: SL 680-7065-200-G
2 TITLE: ADC
V V )
M5V2 M5V2 DIV. SL/BI ABBREV: [ PAGE: 2/2
LAST_MODIFIED=Tue May 24 11:50:31 2005
5] 1211 GENEVA 23 -
5 V SWITZERLAND DESSIN:  S.TRINDEL PV ‘ ETUDE: COCQ ‘ DATE:

~






